29th Jeouary 1634,
D-'i ﬂ'. T‘.din.

Svalef,
lﬁﬂdlnt

My dear Tedin,

I have looked through the analysis of the
19 degrees of fresdom in the after effect experiment
on grass land, As you say, each of the figures
you sent 18 the average of 4 plots., I suppose there
are 57 degrees of freedom £or real arror, but ralse
this polint because In ome pleoe you take 12 degrees of
fresdom belonging to high order inbersctions as the
s¥ror in testing the simpler éffesbs, It would, eof
oourss, be safer to use ths pure srror for this
purpoas, sspsolally a8 1t 1is based en a largsr muaber
of degresa of fresdom,

I ses that you have gcaloulated the sum of
aquares by dividing the squars of ths total Aifferences
by 80, e.g.the total difference for liming is 13825
unita, and your entry is 1385 divided by 20, As
your values are sach the mean of 4 plots, I should
have talken 6 ma the divisor, and 1f esch ware the total



of 4 plots the divisor would have been B0, the tobtal
mmber &f plots in the expariment,

However, all your valuss in the sum of squares
golumn seen to be effectlve alilks, so that the test of
slgnificance will be valid 1f your valus .fl!'-"pﬂﬂ arror
1s reduced o the sams basis,

You will have notieced that the dcanbries invol-
ving nitrogen and ite interactions are obtaimabls from
the aquares of simple sums, and differenses of the
4 quantities obtained by sub<tracting 4 times the ylelad
of the no-nitrogen plot from the sum of the 4 ylalds
Elven by corresponding plota dresszed with nitsregencus
fertilisers, Equally from each of thess, such as
galofum pyanamide, ons can obtain 4 different quantitiles,
1,0, the mm of all values and 8he 3 differenses betwsen
pairs sach of whigh belemgs %o u set of 4 corresponding
b6 the 4 different fertilisers yislding omd of the
seats of & degrees of freedom in the final mnalysis,

I have no deubt you did it this way, as 1t 1=
swidently muah the esgsiest approash, It also ssrves
as an independent sheek on the wvalues obtalned by
differenses.

Tours minserely,



